In situ sulfidation of Pd/C: A straightforward method for chemoselective
conjugate reduction by continuous hydrogenation

Jonathan C. Moore, Rowena A. Howie, Samuel L. Bourne, Gareth Jenkins, Peter Licence, Martyn Poliakoff and
Michael W. George”

Supporting Information

Contents

Materials AN MELTNOAS .....ooeiiiiieeee ettt b et st s e sbe e sbeesbe e bt et e e st e eaeesbeenbe e beebens S2
General Procedure for ContinUous Hydrogenation...........ccuuiiiiiieeeiiiie et et e et e e s e e e etr e e e eaae e e esaveeeeas S2
List Of SUDSErates and PrOTUCES .......eoiiiiiiiiiie ettt sttt ettt e sar e sat e saneesat e e saneenaees S3
ComPOUNd CharaCteriSAtION ... ..uiiiciiieeeciieecccie et et e e ettt e e et e e e e s tbaeeeeataeestaeeaastaeesansseeesassaseaassseseasasessnsseaeans S5
B T Te IR O Y Y T =Tor o = T S7
GrEENIMOTION™ ANGIYSIS 1.vveviieeieeiiteiet ettt ettt ettt e e st st et e s e st b e st et e beseesebeseesesbeseesesbessesesbensesessansesestenseseans S11
RETEIEINCES ...ttt ettt ettt ettt e bt e s bt e e bt e e bt e e bt e e bt e e bt e e s hb e e bt e e sabeeeat e e sabeeeateesabeeeabeesabeenaneenn S13

S1



Materials and Methods

All reagents were purchased from a chemical supplier and used without further purification. *H and 3C NMR
spectra were recorded in CDClz at ambient temperature using a Bruker AV3400HD (400 MHz), spectrometer.
Data are expressed as chemical shifts in parts per million (ppm) relative to residual solvent signals
(CHCls,*H NMR 7.26), (CDCls, *C NMR 77.16) as the internal standard on the & scale. Infra-red spectra were
recorded using a Bruker Tensor 27 FT-IR spectrophotometer using an ATR attachment and their peaks are quoted
as vmaxin cmt. HRMS analyses were performed on a Bruker micrOTOFII mass spectrometer (Bruker Daltonik,
Bremen, Germany), interfaced to an Agilent 1200 HPLC (Agilent Technologies, Santa Clara, USA). Samples were
presented in solution for analysis by Flow Injection, 1uL of solution being injected into the ion source of the
instrument along with a flow of 0.2 mL min of 70% methanol/water eluent. The mass spectrometer was
operated in electrospray ionisation (ESI) mode at a typical resolving power of 8000. Control of the analysis was
performed through Bruker’s Compass Open Access QC automated data acquisition and reporting software (v1.3;
Bruker Daltonik, Bremen, Germany). Data could be further processed, if required, using DataAnalysis software

(v3, B110, 64bit; Bruker Daltonik, Bremen, Germany).

General Procedure for Continuous Hydrogenation

H-Cube (Full Hy)
10% Pd/C (CatCart)
Ph,S (1.25 mM)

substrate > product(s)
0.5 mL/min

IPA, 100 °C

The catalyst cartridge was equilibrated with IPA at 3 mL min? for 1 min. The flow rate was then reduced to
0.5 mL min and Hz generation was initiated in “Full H2” mode (30 mL H> min) at 100 °C. Once the temperature
had been reached, the inlet tube was switched to a solution of diphenyl sulfide in IPA (1.25 mM). After 20 mins,
the inlet tube was switched to IPA for 3 mins and then to a solution of substrate (0.5 mmol) in IPA (5 mL). Once
the substrate solution was almost empty, the inlet was switched back to IPA for a further 20 mins. The crude

material was obtained by removal of the solvent under reduced pressure.

S2



List of Substrates and Products

Entry Substrate Ref. Product Ref.
1 O Sl O SZ
O Z O
1 1a
2 (@) 53 0 54
O Z O

2 Cl 2a Cl
3 (@] SS 0o 54
O Z O
4 Me 4a OMe
4 OH O s® OH O S7
7T
© OH 0 OH
isoliquiritigenin (5) davidigenin (5a)
5 O 58 O SZ
)J\/\© )J\/\©
6 6a
6 O 59 O SlO
=
7 7a
7 o) sl o) o
Bno)v Bno)k/
8 8a
8 O 513 o 514
H = H




[-12000

) 1 e
a
/ 10000
|O |O -8000
@ 6000
4000
-2000
1 )
+7000
o] OH
® 6000
Q
4000
) 3000
[ ]

2000

[ ]
® 1000

A o

J &
8 M ™M ~-1000

1 4 o

T
90 85 80 75 70 65 60 55 50 45 40 35 30 25 20 15 10 05 00
f1 (ppm)

Fig. S1 — Example of determination of product distributions by H NMR a) H NMR spectrum of chalcone (1); b) IH NMR

spectrum of a crude mixture showing >95% conversion and 40% selectivity for the targeted dihydrochalcone 1a over the
corresponding alcohol 1b (0.675:1 molar ratio).

S4



Compound Characterisation

(E)-Chalcone (1)

0]
=

-—

(E)-Chalcone (1) was obtained commercially and used without further purification.

14 NMR (400 MHz, CDCls) 5+ 8.06 — 7.99 (2H, m), 7.82 (1H, d, J = 15.7 Hz), 7.69 — 7.62 (2H, m), 7.62 — 7.57 (1H,
m), 7.57 — 7.48 (3H, m), 7.47 — 7.39 (3H, m); 3C NMR (101 MHz, CDCls) 8¢ 190.7, 145.0, 138.4, 135.0, 132.9,
130.7, 129.1, 128.8, 128.6, 128.6, 122.2.

1,3-Diphenylpropan-1-one (1a)

:o

1a

FTIR (ATR) vmax/cm™: 2951, 1680, 1494, 1447, 1364, 1291, 1204; *H NMR (400 MHz, CDCls) 8x 7.99 — 7.94 (2H,
m), 7.59 - 7.53 (1H, m), 7.49 — 7.42 (2H, m), 7.34 — 7.24 (2H, m), 7.24 — 7.18 (1H, m), 3.34 - 3.28 (2H, m) 3.11 —
3.05 (2H, m); 3C NMR (101 MHz, CDCls) 8¢ 199.4, 141.4, 137.0, 133.2, 128.8, 128.7, 128.6, 128.2, 126.3, 40.6,
30.3.; HRMS (ESI) m/z calculated for CisH14NaO [M+Na]*233.0937, obtained 233.0949.

1,3-Diphenylpropan-1-ol (1b)

:g

1b

FTIR (ATR) vmax/cm™: 3360, 1494, 1453, 1056, 1028; *H NMR (400 MHz, CDCl3) &4 7.40 — 7.33 (4H, m), 7.33 —
7.25(3H, m), 7.23-7.16 (3H, m), 4.74 - 4.66 (1H, m), 2.81 - 2.63 (2H, m), 2.20 -1.98 (2H, m); *3C NMR (101 MHz,
CDCls) 8¢ 144.7, 141.9, 128.7, 128.6, 128.5, 127.8, 126.1, 126.0, 74.0, 40.6, 32.2.; HRMS (ESI) m/z calculated for
CisH16NaO [M+Na]* 235.1099, obtained 235.1099.

(E)-3-(4-Chlorophenyl)-1-phenylprop-2-en-1-one (2)

0]

7T
2 Cl

To a room temperature solution of acetophenone (500 mg, 4.16 mmol) in EtOH (8 mL) was added an aqueous
solution of NaOH (3M, 4.2 mL) and then 4-chlorobenzaldehyde (585 mg, 4.16 mmol). The reaction mixture was
stirred at room temperature for two hours and the resulting precipitate was collected by filtration and washed

S5



with H20 (3 x 10 mL). The crude material was purified by re-crystallisation from hot methanol to yield the title
compound (505 mg, 2.08 mmol, 50%) as an off-white crystalline solid.

FTIR (ATR) vmax/cm™: 1655, 1603, 1590, 1489, 1216, 983; 'H NMR (400 MHz, CDCl3) 31 8.04 - 8.00 (2H, m), 7.76
(1H, d, J = 15.7 Hz), 7.63 — 7.56 (3H, m), 7.54 — 7.47 (3H, m), 7.43 — 7.37 (2H, m); 3C NMR (101 MHz, CDCls) &¢

190.4, 143.5, 138.2, 136.6, 133.5, 133.1, 129.7, 129.4, 128.8, 128.7, 122.6; HRMS (ESI) m/z calculated for
CisH11CINaO [M+Na]* 265.0391, obtained 265.0392.

(E)-3-(4-Nitrophenyl)-1-phenylprop-2-en-1-one (3)

0]

CrTC
3 NO,

To a room temperature solution of acetophenone (500 mg, 4.16 mmol) in EtOH (8 mL) was added an aqueous
solution of NaOH (3M, 4.2 mL) and then 4-nitrobenzaldehyde (629 mg, 4.16 mmol). The reaction mixture was
stirred at room temperature for two hours and the resulting precipitate was collected by filtration and washed
with H20 (3 x 10 mL). The crude material was purified by re-crystalisation from hot methanol to yield the title
compound (421 mg, 1.66 mmol, 40%) as an orange crystalline solid.

FTIR (ATR) vimax/cmt: 1656, 1594, 1512, 1330, 1216, 1104; *H NMR (400 MHz, CDCls) 5+ 8.31 — 8.26 (2H, m), 8.07
—8.01 (2H, m), 7.86 - 7.77 (3H, m), 7.68 -7.60 (2H, m), 7.57 -7.51 (2H, m); 3C NMR (101 MHz, CDCls) 5c 189.8,

148.7,141.7,141.2,137.7,133.5,129.1, 129.0, 128.8, 125.9, 124.4; HRMS (ESI) m/z calculated for C1s H11NNaOs
[M+Na]*276.0631, obtained 276.0640.

S6



1H and 3C NMR Spectra

850

800

750

700

650

600

550

500

450

400

350

300

250

200

150

r100

50

ro

r-50

6T°L
6T°L
0L
oL
e
we
we
L
ET'L
b

9L
9L
L
8FL
5L
b4
LY
¥SL
S5°LA
9574 r
£5°4A
e 3

T d

1ot
FELT
et
Foot1

Fooz

0.0

0.5

1.0

1.5

4.5 4.0 3.5 3.0 2.5 2.0

5.0
f1 (ppm)

200000
190000

180000

170000

160000

150000

140000

130000

120000

110000

100000

90000

80000

70000

60000

50000

40000

30000

20000

10000

ro

r-10000

8roE—

1900 —

8C°9CT
61821 W

mm.nm.—
mw.uﬁ
mﬁ@:.\
TZEET
TO'LET
v?..—w.—.\

LE'66T—

T T T T T T T
210 200 190 180 170 160 150

220

f1 (ppm)

S7



erUU

2400

2200

2000

1800

[1600

1400

1200

1000

800

600

400

200

[-200

€07
£07
w0z
S0z
50T
507
907
0T
we
802
01z
e
71z
a3
€124
517
12
ST7-
o1z

¥z
097}
9977
897
897
692
042
7T
€7
b7

T e—

507
9T
LLT
8LT
607
=4
89'p
0h
e
0L
[4

mmi
BEL

Mlmo,m

oot

7567
Y€
86’

65 60 55 50 45 40 35 30 25 20 1.5 1.0 05 00
f1 (ppm)

7.0

9.0 8.5 8.0 7.5

9.5

10

210000

200000

190000

180000

170000

160000

150000

140000

130000

120000

110000

100000

90000

80000

70000

60000

50000

40000

30000

20000

10000

ro

r-10000

~-20000

Tee—

1906 —

S0tL—

10°921
ﬁc.mﬁ/.
08°4Z1

¥S'82T
85°8T1
£9°821

16'TT
0L#T

™

1

T T T
210 200 190

220

40

f1 (ppm)

S8



32000

30000

28000
26000

24000

22000

20000

18000

16000

14000

12000

10000

8000

6000

4000

2000

ro

-2000

BEL

Cl

002
HO'E
Loe

Ee0r

F00'T

30000

25000

20000

15000

10000

5000

ro

0.0

0.5

1.0

1.5

3.0 25

35

T
50 45
f1 (ppm)

5.5
&
g
|

Ly EPT

TH06T—

Cl

40

60

90

T
150

T
170

T T T
210 200 190

T
220

f1 (ppm)

S9



- 1Yuuu

18000

17000

16000

15000

14000

13000

12000

11000

10000

9000

8000

7000

6000

5000

4000

3000

2000

1000

ro

r-1000

_—_——

(V]

Z—0

ﬁ.uc,m
00
w'e
F86T

mﬁmﬂﬂ

1.0 0.5 0.0

1.5

T
4.5 4.0 35 3.0 2.5 2.0

50
f1 (ppm)

28000
26000

24000

22000

20000

18000

16000

14000

12000

10000

8000

6000

4000
2000
ro

r-2000

6E4TT
88°STI~"
SL'8eT

mQﬁ—ww
60°6CT

mqﬁqk\
0L e
0T THI—F
£9°THT

L8P —

08’681 —

Z=0

-—

f1 (ppm)

S10



GreenMotion™ Analysis

The selected answers are highlighted in bold:

1) Raw materials origin:
a) Natural raw material
b) Raw material obtained by hemisynthesis
c) Raw material obtained from chemical synthesis

2) Renewable carbon percentage: 0%
3) GHS pictograms of the final product:

a) Explosive

b) Toxic

c) Corrosive

d) Dangerous for Environment

e) Flammable

f) Nocive (Exclamation point)

g) Dangerous for health (CMR) Cat. 1
h) Dangerous for health (CMR) Cat. 2
i) Combustive

j) Compressed gas

4) Is this process step natural? No
5) Tick GHS pictograms visible on the reagents and solvents labels:

a) Explosive

b) Toxic

c) Corrosive

d) Dangerous for Environment

e) Flammable

f) Nocive (Exclamation point)

g) Dangerous for health (CMR) Cat. 1
h) Dangerous for health (CMR) Cat. 2
i) Combustive

j) Compressed gas

6) Tick the solvents used during this step:

a) No solvent

b) Water

c) Supercritical CO;

d) Supercritical tetrafluoroethane
e) Supercritical water

f) Ethanol

g) Vegetable oil

h) Another renewable solvent
i) Hexane

j) Cyclohexane, methylcyclohexane
k) Toluene

) MTBE

m) MEK

n) THF

0) Acetone

p) Isopropyl acetate

q) Ethyl acetate

r) Another petrochemical solvent
s) Methanol

t) Methylene chloride

7) Step yield: 84%

S11



8) Number of solvents used: 1

9) Atom economy: 1

The atom economy calculation was simplified by the calculation of the carbon economy.
A Chain reduction leading to the loss of carbon atoms will be penalized unlike in case of a

rearrangement or addition step in which the total carbon atoms of reactants engaged will be kept.
Carbon economy definition : Number of carbons of the product at the end of the step / Total

number of carbons in the main reagents involved

10) Is it a protection or a deprotection step: No

11) Is it a:

a)
b)

12) Step duration (hours): 0.1666 (5 mL of substrate solution at 0.5 mL min-!

microbiological transformation step? No
steam distillation step? No

13) Reaction step under pressure?

a)
b)

Process at atmospheric pressure
Process under pressure

14) Ways of heating:

a)
b)
c)
d)
e)
f)

g)
h)

No heating

Steam 1 bar

Steam up to 3 bars
Steam up to 6 bars
Steam up to 15 bars
Qil

Electrical resistance
Gas

15) Ways of cooling:

a)
b)
c)
d)

No cooling
Water
Glycol water
Brine

16) Distillation conditions:

a)
b)
c)

17) Does the step belong to the following list? No. If yes, tick its name.

a)
b)
c)
d)

No distillation
Distillation at atmospheric pressure
Distillation under vacuum

Sulfonylation

Nitrification

Chlorination

Silylation

Polyoxyethylenation with ethylene oxide
Process using isocyanate, short alkyl halide or alkyl sulfate
Process using phosphorous oxychloride
Crystallization

Ozonolysis

Liquid-liquid extraction

Other energy intensive process

S12



18) E-factor: 1.34

Definition of E-Factor: mass of waste (kg) / mass of desired product (kg).

SEF (Simple E-factor) was used, which discounts solvent waste. This has been highlighted as the
most appropriate way to calculate E-factors for new process development research.!®

101 mg CatCart waste + 17 mg waste from chalcone (104 mg substrate - 88 mg product = 17 mg)
= 118 mg waste; 88 mg prod; 118 / 88 = 1.34.

0 Raw materials

References

(1)

(2)

(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

Tripathi, S.; Kapoor, R.; Yadav, L. D. S. Visible Light Activated Radical Denitrative Benzoylation of 8 -
Nitrostyrenes: A Photocatalytic Approach to Chalcones. Adv. Synth. Catal. 2018, 360, 1407-1413.

Kantam, M. L.; Kishore, R.; Yadav, J.; Sudhakar, M.; Venugopal, A. Chemoselective Hydrogenation of
the Olefinic Bonds Using a Palladium/Magnesium-Lanthanum Mixed Oxide Catalyst. Adv. Synth. Catal.
2012, 354, 663-669.

Wani, M. Y.; Bhat, A. R.; Azam, A.; Lee, D. H.; Choi, I.; Athar, F. Synthesis and in Vitro Evaluation of
Novel Tetrazole Embedded 1,3,5-Trisubstituted Pyrazoline Derivatives as Entamoeba Histolytica
Growth Inhibitors. Eur. J. Med. Chem. 2012, 54, 845—-854.

Shang, J.-Y.; Li, F.; Bai, X.-F.; Jiang, J.-X.; Yang, K.-F.; Lai, G.-Q.; Xu, L.-W. Malononitrile-Assisted Highly
Chemoselective Bismuth Triflate Catalyzed Conjugate Reduction of a,B-Unsaturated Ketones. European
J. Org. Chem. 2012, 2809-2815.

Zhang, S.; Wang, L.; Feng, X.; Bao, M. Palladium-Catalyzed Carbonylative Addition of Aryl Bromides to
Arylalkynes: A Simple and Efficient Method for Chalcone Synthesis. Org. Biomol. Chem. 2014, 12,
7233-7237.

Sugamoto, K.; Matsusita, Y.; Matsui, K.; Kurogi, C.; Matsui, T. Synthesis and Antibacterial Activity of
Chalcones Bearing Prenyl or Geranyl Groups from Angelica Keiskei. Tetrahedron 2011, 67, 5346-5359.

Gutmann, A.; Bungaruang, L.; Weber, H.; Leypold, M.; Breinbauer, R.; Nidetzky, B. Towards the
Synthesis of Glycosylated Dihydrochalcone Natural Products Using Glycosyltransferase-Catalysed
Cascade Reactions. Green Chem. 2014, 16, 4417-4425.

Shao, Y.-D.; Wu, X.-S.; Tian, S.-K. Stereoselective Olefination and Regiospecific Vicinal
Difunctionalization of Imines with A-(Benzothiazol-2-ylsulfonyl) Carbonyl Compounds. European J. Org.
Chem. 2012, 1590-1596.

Wu, D.; O’Shea, D. F. Synthesis and Properties of BF2-3,3'-Dimethyldiarylazadipyrromethene Near-
Infrared Fluorophores. Org. Lett. 2013, 15, 3392—-3395.

Yin, L.; Wu, J.; Xiao, J.; Cao, S. Oxidation of Benzylic Methylenes to Ketones with Oxone—KBr in Aqueous

S13



(11)

(12)

(13)

(14)

(15)

Acetonitrile under Transition Metal Free Conditions. Tetrahedron Lett. 2012, 53, 4418-4421.

Park, K.; Matsuda, T.; Yamada, T.; Monguchi, Y.; Sawama, Y.; Doi, N.; Sasai, Y.; Kondo, S.; Sawama, Y.;
Sajiki, H. Direct Deuteration of Acrylic and Methacrylic Acid Derivatives Catalyzed by Platinum on
Carbon in Deuterium Oxide. Adv. Synth. Catal. 2018, 360, 2303—-2307.

Yabe, Y.; Yamada, T.; Nagata, S.; Sawama, Y.; Monguchi, Y.; Sajiki, H. Development of a Palladium on
Boron Nitride Catalyst and Its Application to the Semihydrogenation of Alkynes. Adv. Synth. Catal.
2012, 354, 1264-1268.

Moore, P. W.; Mirzayans, P. M.; Williams, C. M. NMO- TPB: A Selectivity Variation on the Ley-Griffith
TPAP Oxidation. Chem. - A Eur. J. 2015, 21, 3567-3571.

Zhang, X.; Cao, B.; Yu, S.; Zhang, X. Rhodium-Catalyzed Asymmetric Hydroformylation of N-Allylamides:
Highly Enantioselective Approach to B>-Amino Aldehydes. Angew. Chemie Int. Ed. 2010, 49, 4047—
4050.

Roschangar, F.; Sheldon, R. A.; Senanayake, C. H. Overcoming Barriers to Green Chemistry in the
Pharmaceutical Industry — the Green Aspiration Level™ Concept. Green Chem. 2015, 17, 752—-768.

S14



